TT T 1 [TTTT T T T [TITT T T T T
o>~
o
N
(@}
a
<
+
a
W —
-— /[
o L —
o | _
a
o L —
-
N I
<
- _
AV _
411 TN TN [1 1
7 b N
o o (@)
L | L | L |
(A93 s zwd)/suojoyd
T 1 TTTT T T T 1 [T T T T T 1
L .
o |
0
0
* —
E -
g 7
m —
Qo —

o0} —
o
(@]
o
Te) ]
o -
O -
i -
™ —
(o))
- 1 TR | TR
~— N
| |
o (@]
i ]

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

— o (o]

T 99

=1 =] =]

o] (o) o]

S & Q

-— ™ -~

| | |

+ + +

— (V] ™ — ™

T T 9979

[ [x] [ [ 23]

o © o o o

© w o o 9

— —] — — q—

Il
() 1]
-

© — Il
S ] >
()

s % ' x E

. 2 = o

n [z, z ) z

TITTTT T TT T TITT[TITT T

T _

o

«ANRRRANRERIRNNRARRERA NG
I
srenpisey

1.00

0.10

ered = 0.504

Energy/keV



